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(a) India (b) England (c) Australia (d) Srilanka

Multiple Choice (10)
Who is the present Prime Minister of Srilanka 7

(a) Arjun Ranatunga (b) Mahinda Rajapaksa (c) Gotabaya Rajapaksa

(d) Sajith Premadasa

The Currency of United Arab Emirates is known as :

(a) Taka (b) Pound (c) Dirham (d) Rial

Who is the President of United States ?

(@) Viadimir V. Putin (b) Paul Kagame (c) Jacob Zuma (d) Donald ). Trump
Where the head quarter of UNN.O. is situated 7

(a) New york (b) Geneva (c) Moscow (d) New Delhi
Which is the capital of Australia

With which game is Baichung Bhutia associated 7

(a) Cricket (b) Football (c) Hockey (d) Basket ball

Who among the following has been awarded 'BHART RATNA', the highest
civihan award ?

(a) Dhyan Chand (b) Sachin Ramesh Tendulkar (c) Baichung Bhutia (d)
Mahendra Singh Dhoni

Where is Eden Gardens located ?

(a) Hyderabad (b) New Delhi (b) Kolkata (d) Mumbai

Who got FIFA best player 2019 Award ?

(a) Neymar (b) L. Messi (c) C. Ronaldo (d) Luka Mordic

Answer the following (10)

= -

Where was Gautam Budhha born ? i,

Who completed the construction of Jaganath Temple, Puri in 1174 AD. ?

In which state of India Ajanta caves situates ?

Din-e-llahi religion was founded by whom ?

When was the '‘Quit India Movement' launched by Mohandas Karamchand
Gandhi 7
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Answer any ten questions (Each question carries equal marks)

The HCF and LCM of two numbers are 26 and 16900 respectively. If one of the numbers is
650, find the other number.

Subtract the sum of 3/10 and 4/5 from the sum of 8/15 and 7/10.

Subtract 5 1/6 from 6 2/3 and then find the sum of the difference obtained and 6 ¥.

1.07 m of cloth costs Rs.64.20. What will be the cost of 1 m of cloth ?

Nayana walks 3 ¥4 km n 1 hour. How far does he go in 2 2/7 hours ?

Find out the answer or simplify

(a) 20-15+5+3x1=7?

(b) 5+7x 4 +9-15 =7

The length and breadth of a rectangular park are 20 m and 15 m respectively. It is 1 be
fenced with two rounds of barbed wire. What will be the cost of fencing it at Rs.25 per
meter 7

A bath b is 65 cm long, 35 cm broad and 30 cm high. How many litres of water it can
hold ?

A fruit seller purchased 20 kgs of apple at Rs.300/- | out of which 2 kg of apple are found to
be rotten. To get 30 % profit at which rate the seller will sell the rest apple ?

A sum of Rs.10,000/- is borrowed at a rate of interest 15 % per annum for 2 years. Find the
simple interest on this sum and the amount to be paid at the end of 2 years.

Sohan bought a second hand refrigerator for Rs.2,550¢/-, then spent Rs.500/- on its repair and
sold it for Rs.3,300/-. Find his loss or gain percent?

Find Compound interest (CI) on Rs.12,600¢- for 2 years at 10 % per annum compounded?

Bibek does a work in 30 days and Biru does it in 20 days. After doing the work together for
2 days Biru left the work. Then in how many days Bibek will complete the work ?

A train which moves at a speed of 10 km per hour crosses a man standing at platform in 20
seconds. Then what is the length of the wrain ?

Abhi bought an Air Cooler for Rs. 3300/ including a tax of Rs. 10%. Find the price of the Alr

Cooler before tax was added.



1 h-#-hmmqh-ﬁ--h-ﬂiﬁﬂ-d
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Write a letter 10 your friend narrating your experience during the excertion (o a tourist
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revolution was largely confined 10 wheat crop resulting in a limited contribution to overall

economic development of the country. On the other hand, economic growth in 1980s was the

second phase of the green revolution which involved almost all the crops including the rice and

other crops and enabled 1o raise rural income and alleivate rural poverty substantially.

4. Write the summary of the following passage. (20 Marks)

Knowledge means knowing the things in an appropriate and better way. A man of
knowledge can understand the cirumstances more wisely. so can decide the things favourably.
Knowledge inspires confidence and courag, to act at the nght ume. A man of knowledge possesses
immense influence in society. He has the capacity 1o lead the society, mould it in a positive
direction, keep away the society from the many social evils. A man of knowledge ums the
sleeping people into a thundening force.

Time has gone, when power of sword ruled the world. Even during that period, the power of
sword alone never ruled, but the knowledge about enemy, knowledge about own strength and
knowledge of the right time of antack always had played o crucial role in grabing the power. In
other words, knowing what to do at what time in what direction and how, are the various parameters
that Jead to sure success. Knowing the timings well, knowing our goals well, knowing our strengths
and weaknesses well and sharpening them in right direction, we can achieve what we aspire to
achieve. Knowledge gives power to mobilise things |p-q|h| drwnmm and, o it is sdd that
knowledge is power. & X1

If one ventures to establish any business or wishes (o achieve any goal, be must acquire full
knowledge of all the things including his own limitations and weaknesses. Knowledge gives one
capacity and capability to know the result of his actions, probability of success and failure,
propriety of his venture and so knowledge is said (0 be the power.

For a country knowledge about its friends and foes, knowledge about the capabilites of his
enemies is very important. In the present world scenano, many satellites and <py air crafts are
deployed for the purpose of gaining maximum knowledge of acuvities going on in other countries,
A country having maximum and accurate knowledge ol other countries can use them for its
advantage; it is the knowledge’ that rules the world. Knowledge gives one immense power, s0
rightly said, ‘Knowledge is power NI gives « MR
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